
Décomposition des nombres décimaux.

342,56 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

29,254 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

50,1 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

3,468 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

68,2 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

18,75 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

14,25 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

13,648 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

85,91 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

58,995= (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

132,8 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

464,75 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

72,95 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

26,875 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

48,992 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

78,05 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

14,375 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

18,25 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

2,582 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

9,363 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

 764, 005= (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

750,76 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

368,87 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

18,246 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

24,9 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

348,75 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

27,05= (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

72,008= (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

65,245 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

19,389 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

357,3 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

46,848 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

25,785 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

346,36 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

156,24 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

45,75 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

432,45 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

210,6 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

13,75 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

19,992 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

37,50 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

48,02 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

14,39 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

73,99 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

7,538 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

12,399 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

6,103 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

4,996 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)



Décomposition des nombres décimaux.

17,547= (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……) + (………. x ……)

12,399 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x ….…) + (………. x …..…)

334,85 = (………. x ……) + (………. x ……) + (………. x ……) + (………. x …..…) + (………. x ………)

4,296 = (……. x ……) + (………. x ……) + (………. x …..…) + (………. x ………) + (………. x ………)


